Microeconomics (Skill Development Exercise)



Game Theory
Dominant strategy

A strategy is said to be a dominant strategy when that strategy does not depend upon the strategy of other firm

Nash equilibrium
When we choose a strategy keeping in view the strategy of other firms we come to Nash equilibrium
From each of following payoff matrix determine 

1. Whether firm A has a dominant strategy?

2. Whether firm B has a dominant strategy?

3. The Nash equilibrium if there is one

	
	                               Firm B

	
	
	Advertise
	Do not advertise

	Firm A
	Advertise
	A gets 4
B gets 3
	A gets 5

B gets 1

	
	Do not advertise


	A gets 2
B gets 5
	A gets 3
B gets 2


	
	                               Firm B

	
	
	Advertise
	Do not advertise

	Firm A
	Advertise
	A gets 4

B gets 3
	A gets 5

B gets 1

	
	Do not advertise


	A gets 2

B gets 5
	A gets 6
B gets 2


	
	                               Firm B

	
	
	Small cars
	Large cars

	Firm A
	Small cars
	4,4
	-2, -2

	
	Large cars


	-2,-2
	4,4


Microeconomics (Skill Development Exercise) 



From following pay-off matrix, answer the questions given in the end.

	
	Ahmad 

	
	Strategy
	A
	B

	Ali 
	A


	Ali gets 4.1

Ahmad gets 4.1
	Ali gets 5.1

Ahmad gets 3.8

	
	B


	Ali gets 3.8

Ahmad gets 5.1
	Ali gets 4.6

Ahmad gets 4.6


1. If Ali choose strategy A, what would be the best strategy for Ahmad

2. If Ali choose strategy B, what would be the best strategy for Ahmad

3. Which strategy is dominant strategy for Ahmad, and why?

4. If Ahmad choose strategy A, what would be the best strategy for Ali

5. If Ahmad choose strategy B, what would be the best strategy for Ali Which strategy is dominant strategy for Ali, and why?

6. Do these strategies maximizing their profit?

7. If they decided to cooperate with each other, what would be the strategy for both the firms?

Q2.

	
	                               Firm B

	
	
	High Production
	Low Production

	Firm A
	High Production


	Firm A gets40$

Firm B gets 40$
	Firm A gets 60$

Firm B gets 30$ 

	
	Low Production


	Firm A gets 30$

Firm B gets 60$
	Firm A gets 50$ 

Firm B gets 50$


Suppose above two firms are duopolists and after an agreement they decided to keep production at low level in order to keep the prices of their product high.

1. What will each firm get if they keep the agreement.

2. Suppose firm A decides to raise the production level, what will firm A get and what might be the reaction of firm B. 

3. What will be the strategy of both firms if they know that they play game for many times?

4. What will be the strategy of both firms if they know that they play game for last time?
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